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Simplify: (4 - i) + (5 - 9i)

9 - 10i
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Simplify: (-3 +2i) - (6 +1i)

-9 +i
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Simplify:

-4i(-2i)

8i° = 8(-1) =
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Simplify:  6i(-7i)

= -42i° = -42(-1) =

42
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10) Simplify: (7 - 4i)(10 - 2i)

70 - 14i -40i + 8i°
= 70 - 54i + 8(-1)
= 70 - 54i -8

62 - 54i
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11) Solve: -3x°-144=0

-3x% = 144
x? = -48

x=4J—48=+./-1(16)(3) =+4i/3
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12) Solve: x* -2x+4=0

x72i\/2274(1)(4)45/4—1641@ :2i\/721(4)(3)
- 2(0) 2

24203 _Jl=iV3
2 1
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13. Solve by graphing.

2x? + Bx - 10 =0

-3.8

13
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1. Solve by graphing.

4% + 3 = -8x

Use the 2nd TRACE
and zero functions.

=-15,x=-05
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2) Solve by factoring.

X +2x-8=0

(x + 4)(x - 2) =0

x+4=0 x-2=0

x = -4 x=2
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3) Solve by square roots.

2x? - 288 =0
2x? = 288
x? = 144

x =12
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4) Solve using the quadratic formula.
2.5x-5=0
=3E52-4D(5) - 5+\/25+2 5+f 5467
2(1) 2

5+6.7-11.674584 5-6.7--1.7-_85
2 2 2 2
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Convert this equation from standard form to vertex form.

y=x*+6x+2

x
"

-b/2a = -6/2(1) = -3 h=-3

y=(-3+6(-3)+2=9-18+2=-7

y=(w+37-7





